



Finde die Zahl heraus, welche beide Gleichungen korrekt beantwortet.

1) $\underline{\quad} + 11 = 17$
 $17 - 11 = \underline{\quad}$

2) $\underline{\quad} + 3 = 12$
 $12 - 3 = \underline{\quad}$

3) $\underline{\quad} + 11 = 19$
 $19 - 11 = \underline{\quad}$

4) $\underline{\quad} + 1 = 15$
 $15 - 1 = \underline{\quad}$

5) $\underline{\quad} + 6 = 20$
 $20 - 6 = \underline{\quad}$

6) $\underline{\quad} + 7 = 10$
 $10 - 7 = \underline{\quad}$

7) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

8) $\underline{\quad} + 3 = 6$
 $6 - 3 = \underline{\quad}$

9) $\underline{\quad} + 10 = 17$
 $17 - 10 = \underline{\quad}$

10) $\underline{\quad} + 7 = 20$
 $20 - 7 = \underline{\quad}$

11) $\underline{\quad} + 1 = 7$
 $7 - 1 = \underline{\quad}$

12) $\underline{\quad} + 3 = 20$
 $20 - 3 = \underline{\quad}$

13) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

14) $\underline{\quad} + 2 = 20$
 $20 - 2 = \underline{\quad}$

15) $\underline{\quad} + 2 = 5$
 $5 - 2 = \underline{\quad}$

16) $\underline{\quad} + 10 = 18$
 $18 - 10 = \underline{\quad}$

17) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

18) $\underline{\quad} + 1 = 16$
 $16 - 1 = \underline{\quad}$

19) $\underline{\quad} + 10 = 12$
 $12 - 10 = \underline{\quad}$

20) $\underline{\quad} + 1 = 6$
 $6 - 1 = \underline{\quad}$

Antworten

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____

16. _____

17. _____

18. _____

19. _____

20. _____



Finde die Zahl heraus, welche beide Gleichungen korrekt beantwortet.

1) $\underline{\quad} + 11 = 17$
 $17 - 11 = \underline{\quad}$

2) $\underline{\quad} + 3 = 12$
 $12 - 3 = \underline{\quad}$

3) $\underline{\quad} + 11 = 19$
 $19 - 11 = \underline{\quad}$

4) $\underline{\quad} + 1 = 15$
 $15 - 1 = \underline{\quad}$

5) $\underline{\quad} + 6 = 20$
 $20 - 6 = \underline{\quad}$

6) $\underline{\quad} + 7 = 10$
 $10 - 7 = \underline{\quad}$

7) $\underline{\quad} + 1 = 19$
 $19 - 1 = \underline{\quad}$

8) $\underline{\quad} + 3 = 6$
 $6 - 3 = \underline{\quad}$

9) $\underline{\quad} + 10 = 17$
 $17 - 10 = \underline{\quad}$

10) $\underline{\quad} + 7 = 20$
 $20 - 7 = \underline{\quad}$

11) $\underline{\quad} + 1 = 7$
 $7 - 1 = \underline{\quad}$

12) $\underline{\quad} + 3 = 20$
 $20 - 3 = \underline{\quad}$

13) $\underline{\quad} + 1 = 20$
 $20 - 1 = \underline{\quad}$

14) $\underline{\quad} + 2 = 20$
 $20 - 2 = \underline{\quad}$

15) $\underline{\quad} + 2 = 5$
 $5 - 2 = \underline{\quad}$

16) $\underline{\quad} + 10 = 18$
 $18 - 10 = \underline{\quad}$

17) $\underline{\quad} + 3 = 19$
 $19 - 3 = \underline{\quad}$

18) $\underline{\quad} + 1 = 16$
 $16 - 1 = \underline{\quad}$

19) $\underline{\quad} + 10 = 12$
 $12 - 10 = \underline{\quad}$

20) $\underline{\quad} + 1 = 6$
 $6 - 1 = \underline{\quad}$

Antworten1. 62. 93. 84. 145. 146. 37. 188. 39. 710. 1311. 612. 1713. 1914. 1815. 316. 817. 1618. 1519. 220. 5